S
0

40
&

&K

®
\ » -

o ..'W,.\Vm‘mw i
= 1 X 3
—~ (4

=il
Ay
= [] &WMVWV ol

p

S
WM VYS / N
RIS L N

40.5

5200m
10404
5200m

Ocm

8

17
RN
&
O

N\ 35
02%

4H9
36.8m/s
5
&
X

a4
%4!»,', \
'\

285

.51/4 ;

7. /=5

#

1959
0

= %,
=
Z o
N @7
A
e
=
45%
-
(@\] N
©
Y & & S ¥
S °




118

i Vi %
RN y g
o SR Ve % o8
7 99 @i@ A B6\
db@ 7 /002‘ ., / N Z
< @ ” \) o o
NG 1017
fx PaelY
0/ ? 70?0 ,v’," { 107 5
g3 96 . . -
572} [l. // ! g )J
2 102¢ : ~~1026 .
R - ) -
‘. 0
— 7
o 17
¥ 16 D
! 10 15

335

10

13




TS

D 20@9%

32.5m/s

18
A ~
02 ,\360'1
1002 (%
A0
/ ~
N \4"
998 ~
7%
‘\()'\8'
o 10 23d9
7.8
29 300 11
4
'_
4 0
Y %
%
X ®
. 3L}
7 ., OA4 <
4 o
b 2509 0
24 50cm



I

)

N

=
\(\. A&
OH ,;‘T:‘_-“

-
&

25m/s 20.1m/s

LY
t .~
LN
G
N x
/’040
iy
. '1‘4 A
R
207 1028
&l 10 31H9

298cm



